ECHNICAL INFORMATION

'Il! ,’ A!! ! !'!
PRODUCT

Model No. 2704

» Table Saw 255mm (10")/ 260mm (10-1/4")
Europe: 260mm Other countries: 255mm (10")

CONCEPT AND MAIN APPLICATIONS

This is a sister model ranked higher than our current table saw model 2703.
The right sub table extends to rip cutting capacity of 4'x8' material.
The other main different features are below.

* Large machined aluminum table top for accurate cutting work

* Precision rip fence provides accuracy
* Powerful 1650W motor

- Speciﬁcation

P1/15

Dimensions: mm (")
Europe, Turkey,
South Africa The others
Length (L) 760 (30) |665 (26-1/4)
Width (W) 766 (30-1/4)
Height (H) 344 (13-1/2)

Europe, Turkey, South Africa|Canada, USA, Mexico, Panama | The others
. Diameter 260 (10-1/4) 255 (10)
Saw Blade: mm (") I"j i iameter 30 (1-3/16) 15.88 (5/8) 254 (D)
Continuous rating input: W 1,650
Rated amperage for North America: A 15
No load speed: min.-1=rpm 4,800
Bevel cutting capacity: degrees From minus 0.5 to plus 45.5
. . " at 90 degrees 93 (3-5/8) 91 (3-5/8)
Cutting capacity: mm () - fearees 64 (2-172) 63 (2-172)
] | Main table 625x567 (24-5/8x22-1/4)

Table size (WxL):mm () gy table 128x570 (5x22-1/2)
Max. width of dado: mm (") 21 (13/16)
Electronic | Constant speed control No
feature UK 110V and all 220V-240V countries: Yes

Soft start All 110V-127V countries except UK: No
Electric brake Yes
Double insulation Yes
Power supply cord: m (ft) 2.5(8.2) 2.5 (8.2) / Australia and New Zealand: 2.0 (6.6)
Net weight: kg (Ibs) 33 (72) 28 (61)

> Standard equipment
TCT saw blade ..... 1 Ripfence............... Hex wrench 5................... 1 Ring 15.8 (257060-5) for use of 25.4mm
Rear table set Miter gauge .... ...... Push stick ......cccceevvrennneen. 1 inner diameter blade exclusively

(exclusively Europe,  Right table set .......
Turkey, South Africa..] Wrench 19 ............

Joint for connecting a hose Canada, USA, Mexico and Panama..... 1
(exclusively Europe, Ring 16 (257022-3) for use of 25mm

Socket wrench 13-22 ..1 Turkey, South Africa) ...... 1 inner diameter blade ....1 (It does not comes

- Optional accessories

with the products for Canada, USA, Mexico,
Panama, Europe, Turkey and South Africa)

Stand Set .....occvvevieeiiieiieeieeieens 1 Ring 15.8 (257060-5) for use of The components of Dado head set
Left table set .....cccveevvverveeieennnne 1 25.4mm (1") inner diameter blade........ 1 and the relevant parts
Rear table set........ccceeevvevieennenns 1 Ring 16 (257262-3) for use of (Exclusively Canada, USA, Mexico
Joint for connecting a hose......... 1 30mm inner diameter blade ................. 1 and Panama: See instruction manual)........ 1
Sliding guide Set ......c...cccevvenenne I Ring 16 (257022-3) for use of 25mm
inner diameter blade ............c.cccveennenne. 1

Note: The standard equipment and the optional equipment for the tool shown above may differ from country to country.
Ring 15.8 (257060-5) or Ring 16 (257262-3) is factory-assembled for some countries.



P2/15

> Features and benefits

Machined Table Top Smooth Operating Ruler ass'y Powerful 1,650W Motor
Provides increased flatness with High Accuracy Seltlve;r_sbet;ough power to smoothly
for high precision cutting. slides along with rails and positions P IWO-DYS.

easily thanks to its large lock-lever *
T-Slot Grooves for Angle rulef_ and lock-mechanism. With Electric Brake

Prevents Miter gauge rising from the
table. N K
3/8"x 3/4" T-slot size allows for use Right Extension Table Set
of third parties' various accessories. Allows for ripping a 4'x8' wooden

. workpiece.

Rear Extension Table Set —_

e Standard equipment for Europe

e Option for Other countries

Safety guard can be

installed/removed

without tools.

(Canada, USA, Mexico, Easy to-Read Scale
Panama and Europe only) With large graduations and

magnifying lens

Storage Hooks for Power Supply Cord

Easy-to-operate Large On-Off Switch

Left Extension Table Set (option) sWith soft start feature for 220V-240V countries

and 110V of UK
sWith anti-restart device for China and Europe

Accessories can be stored on the machine.

¢ The following accessories can be stored; Sliding Guide Set (option)
TCT Saw blade, Ruler ass'y, Angle rule ass'y, Push stick,
Wrenches, Safety guard, Dado blade

® With anti-loss device for blade fixing knob

for precise cut of bigger wooden
workpiece using angle rule ass'y

Joint for ¢45mm Hose of Dust Extractor 13/16" Dado head set can be used

(Europe, Turkey, South Africa: standard) (exclusively Canada, USA, Mexico and Panama)

Note: Be sure to replace some parts in accordance
with the instruction manual exclusively for
the above countries when using Dado head
set.

® Chips and sawdust inside of frame can be collected
using dust extractor.

Five-level-height Adjustable Stand Set (option)

eThe height from the ground to the table top can be selected
as follows;
630mm(24-3/4"), 580mm(22-3/4"), 520mm(20-1/2"),
450mm(17-3/4"), 260mm(10-1/4")
o]t is convenient to carry the tool with.

Table top

Maximum:
630mm(24-3/4")

—

Minimum:
260mm(10-1/4")

*marks: the same features as the model 2703



- Comparison of products

USA, Canada, Mexico, Panama

P3/15

Model No. Makita DEWALT BOSCH RIDGID
Specifications 2704 2703 DW744(S) 4000(-09) TS2400LS
Teeth 40T 24T 24T 40T 28T
TCT Diameter:mm (") 255 (10) 255(10) 255 (10) 255 (10) 254 (10)
Saw Blade Hole diameter:
mm (") 15.88 (5/8) 15.88 (5/8) 15.88 (5/8) 15.88 (5/8) 15.88 (5/8)
Continuous rating input: W 1,650 1,650 1,600 1,800 N/A
orth Ameriens: A 15 13 13 15 15
No load speed: min.-1=rpm 4,800 4,600 3,650 3,650 4,000
Electronic CC:;itOz;nt speed No No No Yes N/A
feature Soft start No No No Yes Yes
Bevel cut capacity: degrees -0.5 -45.5 0-45 0-45 D -47 0-45
Cutting . at 90 degrees 91 (3-9/16) 91 (3-9/16) 79 (3-1/8) 79 (3-1/8) 79 (3-1/8)
E?Ela(c'f;y. at 45 degrees 63 (2-1/2) 63 (2-1/2) 57 (2-1/4) 63.5 (2-1/2) 57 (2-1/4)
Max. cutting width: mm(")
from Blade to Rip fence on 638 (25-1/8) —_— 622 (24-1/2) 635 (25) 635 (25)
right side
gftli‘;fzrfg(’:f”;;ab‘lf tI(I’lm o 330 (13) — 340 (13-3/8) | 300 (11-3/4) | 340 (13-3/8)
Max width of dado: mm (") 21 (13/16) 13 (1/2) 21 (13/16) 21 (13/16) 21 (13/16)
Electric brake Yes Yes No No N/A

. Aluminum die cast, . . . . . .
Material machined Aluminum die cast, not machined | Aluminum die cast, machined
Main | Width 625 (24-5/8) 685 (27) 675 (26-1/2) 597 (23-1/2) 615 (24-1/4)
Table Sire: table |y ohoth 567 (22-1/4) 530 (20-7/8) | 490 (19-1/4) | 545 (21-1/2) 535 (21)
mm (") Sub | Width 128 (5) 138 (5-7/16) 150 (5-7/8)
table |y opoth 570 (22-1/2) 545 (21-1/2) 535 (21)
Double insulation Yes Yes Yes Yes No
Power supply cord: m (ft) 2.5(8.2) 2.5(8.2) 2.5(8.2) 3.0(9.8) 3.0(9.8)
Length 665 (26-1/4) 560 (22) 590 (23-1/4) 546 (21-1/2) 630 (24-3/4)
Dimens“"(‘f): Width 766 (30-1/4) 686 (27) 686 (27) 737 (29) 960 (37-3/4)
mm
Height 344(13-1/2) 308 (12-1/8) 330 (13) 330 (13) 340 (13-3/8)
Net weight:kg (Ibs) 28 (61) 18 (40) 29 (64) 27 (60) 29 (64)
TCT saw blade TCT saw blade |TCT saw blade | TCT saw blade | TCT saw blade
Rip fence Rip fence Rip fence Rip fence Rip fence
Miter gauge Miter gauge Miter gauge Miter gauge Miter gauge
Wrench 19 Wrench 19 Wrench 22 Blade wrench | Blade wrench
Standard Wrench 13-22 Socket wrench |Stand Hex wrench 22 | Stand
equipment Hex. wrench 5 Switch button Stand

Push stick

Ring 15.8 (Use with
25.4mm (1") inner
diameter blade)

Screwdriver




- Comparison of products

Europe, Turkey, South Africa

Model No. Makita DEWALT BOSCH
Specifications 2704 DW744 GTS10
Teeth 24T 24T 40T
TCcT Diameter:mm ()| 260 (10-1/4) 250 (9-7/8) 255 (10)
Saw Blade Hole diameter:
mm (") 30 (1-3/16) 30 (1-3/16) 30 (1-3/16)
Continuous rating input: W 1,650 1,600 1,800
No load speed: min.-1=rpm 4,800 3,650 3,650
Constant speed
Electronic | control No No N/A
feature Soft start Yes No Yes
Bevel cut capacity: degrees -0.5-45.5 0-45 D2 -47
Cutting at 90 degrees 93 (3-5/8) 76 (3) 79 (3-1/8)
capacity:
mm (") at 45 degrees 64 (2-1/2) 56 (2-3/16) 64 (2-1/2)
Max. cutting width: mm(")
from Blade to Rip fence on 624 (24-1/2) 612 (24-1/8) 626 (24-5/8)
right side

Distance from blade to

Joint for connecting
a hose

the left end of Table: mm(") 330 (13) 340 (13-3/8) 300 (11-3/4)
Max width of dado: mm (") 21 (13/16) 21 (13/16) N/A
Electric brake Yes No No
. Aluminum die cast, | Aluminum die cast, |Aluminum die cast,
Material machined not machined machined
Main | Width 625 (24-5/8) 675 (26-1/2) 597 (23-1/2)
Table S @ble |y hoth| 567 (22-1/4) 490 (19-1/4) 641 (25-1/4)
mm ()¢ o | Width 128 (5) 138 (5-7/16)
@ble 1y enoth| 570 (22-1/2) 641 (25-1/4)
Double insulation Yes Yes Yes
Power supply cord: m (ft) 2.5(8.2) 2.5(8.2) 3.0 (9.8)
Length 760 (30) 590 (23-1/4) 725 (28-1/2)
Dimemio‘zf; Width 766 (30-1/4) 686 (27) 780 (30-3/4)
mm
Height 344 (13-1/2) 330 (13) 340 (13-3/8)
Net weight:kg (Ibs) 33(72) 29 (64) 34 (75)
TCT saw blade TCT saw blade TCT saw blade
Rip fence Rip fence Rip fence
Miter gauge Miter gauge Miter gauge
Standard Wrench 19 Wrench 22 Blade wrench
cquipment Wrench 13-22 Push stick Hex wrench 22
qauip Hex. wrench 5 Adapter for Case for TCT saw
Push stick dust extraction blade

P4/15



- Comparison of products

Numbers in chart below are relative values when setting BOSCH 4000's capacity as 100.

CComparison in cutting efﬁciencD

Testing conditions

* Materials : Spruce 2x10

* Application: Ripping using the same TCT saw blade

Testing conditions

* Materials : Plywood

P5/15

* Application: Cutting using the same TCT saw blade

Makita 2704 Makita 2704
BOSCH 4000 100 BOSCH 4000 100
I I I I I I
DEWALT DW744 75 DEWALT DW744 75
I I I I I I
RIDGID TS2400-1 105 \ RIDGID TS2400-1 95 \
0O 20 40 60 80 100 0O 20 40 60 80 100
<+— Slow Fast—» <+— Slow Fast—»

Testing conditions
* Materials : Douglas
* Application: Cutting using each genuine TCT saw blade of the table saws

BOSCH 4000 100
I I I |
DEWALT DW744 | | 80 | J
RIDGID TS2400-1 | | 90 | | \
0 20 40 60 80 100
<+— Slow Fast—»

CComparison in sound level)

Testing conditions
* Materials : Chipboard (thickness: 20mm)
* Application: Cutting using each genuine TCT saw blade of the table saws

DEWALT DW744

RIDGID TS2400-1

Makita 2704

BOSCH 4000

No load

87

88

88

91

Sound level: dB(A)

Under load

90

96

93

93




P6/15
> Repair
CAUTION: Be sure to unplug the tool before maintenance or repair.
See the instruction manual on how to handle the tool.
[1] Repairing tool
Phillips bit No.3 and Cordless impact driver...........c.ccoceveevenuennene For M6 Pan head screws

45 Degrees set square F/LS-models (Makita part No. 1R207) ....For setting Saw blade angle at 45°to Table
90 Degrees set square F/LS-models (Makita part No. 1R208) ....For setting Saw blade angle at 90°to Table

Bearing extractor (Makita part No. 1R263)........cccccvvervirinencnncns For separating Ball bearing 609LLB from Spindle
complete
Spring pin extractor 4.0 (Makita part No. 1R308).........ccccecvrenene For removing Spring pin 4-20 in Straight bevel gear

[2] Lubrication

1) Be sure to apply Makita grease N. No.1 (total 13g) to the gear portions.
2) Apply a little amount of grease to the contact surfaces designated by Vmarks in Fig.1.
(Makita grease N. No.1 is applied to the contact surfaces in our factory. Except for the gear portion,
any greases is applicable.)
Fig. 1

Forward and Backward of Frame

VAR 7/ 'IIIII.IIIIIIIA
N

[3] Disassembling Motor portion

Remove Slide cover and Riving knife.
Spread cushions on the ground, put Table saw upside down on the cushions.
Pay careful attention not to damage the table surface.
Remove Base under cover installed only for European specifications.
After separating four M6x60 Pan head screws from Motor housing complete, pull out the Motor housing portion.
Note: Do not lose Flat washer 18 because it often drops off while pulling out the Motor housing
portion.
Consequently, Armature can be pulled out by hand.

[4] Assembling Motor portion Fig. 2

Urethane washer 18
After installing drive-end of Armature ass'y to Gear housing complete,

cover them with Buffle plate. Flat washer 18 \-
Glue Flat washer 18 and Urethane washer 18 to Ball bearing 6000DDW
(the component of Armature ass'y) using grease. It prevents drop of the flat Ball bearln -

washer and Urethane washer from Armature ass'y during assembling ,6000DDW

work. See Fig. 2 .
Insert Motor housing portion over them carefully to the direction of

Motor housing complete and Gear housing complete. Refer to Fig. 3 of next Insulation washer ﬁ@ﬁ ‘
page. ‘ ﬁ

Armature ass'y




> Repair

Fig.3

W Motor housing complete

Gear housing complete (// / %
J

Screw bar retainer n

Guide bar retainer

Guide bar

[5] Disassembling Spindle complete (Gear portion)

P7/15

Note: Spindle complete (Fig.4) is replaceable without disassembly of Motor housing complete.
Ball bearing 6203DDW and Helical gear 42 are press-fit to Spindle at proper torque in our factory.
Therefore, if something is wrong with the Spindle complete, replace it entirely with a new one.

Remove (1) four Guide bar retainers (2) two Guide bar (3) Screw bar retainer in this order. Refer to Fig.3.
Separate Gear housing complete with Motor housing complete from Frame as described in Fig.5.

Fig.4 Fig.5
Frame
* .
*Ball bearing 6203DDW  L1at washer 34 ie;; ?;281ng
T
*Spindle) / Helical gear 42
Motor housing
complete
Spindle Complete
* mark: the component of Spindle complete

Remove four M5x20 Pan head screw for securing Bearing box to Gear housing complete, then

pull out Gear portion.

Insert two edges of 1R263 into the clearance between Helical gear 42 and Ball bearing 609LLB,

lever the ball bearing 609LLB from Spindle complete end using the 1R263 as illustrated in Fig.6.

Separate Bearing box from Spindle complete.
Finally, replace Spindle complete by new one.

Caution when assembling Spindle complete (Gear portion)|

Align a notch of Bearing box with one edge of Gear housing complete as mentioned in Fig.7.
Fix bearing box to Gear housing complete using four M5x20 Pan head screws.

Fig.6 Fig.7

Ball bearing 609LLB Bearing box
/ *Helical gear 42

S

Edge of Gear

* mark: the component of housing complete

spindle complete

Notch of Bearing
Box




P8/15

> Repair
[6] Disassembling Base Portion

Note: Base portion is replaceable without disassembly of Handle portion, Blade case portion and Motor
portion.

Remove Switch box and Strain Relief which holds Power supply cord to Base complete.

Remove Plate from Base complete by unscrewing two M6x16 Pan head screws. They are accessible from Handle side.
Remove two 4x18 Tapping screws at the center of Slide cover.

Remove four M6x25 Pan head screws for securing Base complete and Table complete.

Lift up Base complete very carefully because a part of Base complete shown in Fig.8 is apt to catch on the others.

Fig.8

[ ||~ This part is apt to catch
L' on the others.

[7] Disassembling Bevel Cut Adjustment Portion and Depth Adjustment Portion

Refer to Fig.8. Fig.8
Remove Handle 100 for Bevel cut adjustment and Knob 32 Handle
for depth adjustment. shaft l/ L
Remove Spring pin 4-20 in Straight bevel gear using 1R308 Y Base
as described in Fig.9, and then pull out Handle Shaft. = ;  front
Note: If Handle shaft can not be pulled out due to burrs Stay < LT DLl ] /  cover

around spring pin hole, grind the spring pin hole to

remove the burrs using a file. =S Lever 120
Separate Stay from Handle shaft so that Plane bearing 12 can
be removed. The stay is used to retain the Plane bearing 12. Handle 100 — < i /
Caution when assembling Bevel Cut Adjustment Portion \/ o

and Depth Adjustment Portion l\
. . Knob 32

Install Plate and Base front cover in place before assembling
the above portions. Fig.9

2) Secure the Rack plate in the proper position on the Plate
using two M5x12 Pan head screws so that the given play /
between two gears can be held at 90 vertical cut setting and

igh 1 tsi
45°bevel cut setting . See Fig.10. Straight bevel gear (outside)

When fixing Rack plate to Plate; Spring pin 4-20
1) Insert Handle 100 for bevel cut adjustment. , F
\
|
7N

Handle shaft (insi
When fixing Plate to the reverse of Table; andle shaft (inside)
1) Secure Lever 120 at 90°vertical cut angle. Fig.11

2) Fasten one M6x16 Pan head screw @ as shown in Fig.11.

Plate
3) After unlocking the Lever 120, lock up Lever 120 again at
45°bevel cut angle. | ] / N I L
4) Fasten another M6x16 Pan head screw ©) / %
Fig.10 3 o /bx
M5x12 Pan head screw ®, \ﬂ ) /M ®
;— {

3 W ‘ / j
o
/ "45° vertical cut [7 \
settin, f \ ‘ \ i
o .. g
90" vertical ¢

setting Gear teeth of Handle 100

(D M6x16 Pan head screw (2)




P9/15
> Repair

[8] Disassembling Frame

Remove Gear housing portion. Refer to the clause [4] of page 7.

Remove Handle 100 for Bevel cut adjustment and Knob 32 for depth adjustment. Refer to the clause [7] of page 8.

An example appears in Fig.12.

Remove four M6x20 Pan head screws from Frame retainer to separate Frame from Table.

Note: Do not loosen two M6x20 Hex bolts for adjust block at this time. If happening to loose them, parallel
adjustment between Saw blade and Frame must be required.

Fig. 12

Frame retainer Frame

[8] Disassembling Sub Table

Remove Rail stopper at the reverse side of the right end on Front outer rail complete. Sub table with Front inner rail
and Rear inner rail can be pulled out toward the right direction.

Sub table has a notch for holding by hand. When separating Front inner rail and Rear inner rail from Front outer rail
complete and Rear outer rail complete, reassemble them so that the notch of Sub table faces outside.

[9] Clamping Adjustment to Sub Table

Push Sub table into the nearest position of Table complete to retract Front and Rear inner rails to their outer rails.
Refer to Fig.13. Adjust the clamping force to Sub table by screwing/unscrewing each M5x20 Hex. socket head bolts
each (two pieces in total) using T-type hex. wrench 4-77 so that the Sub table can not move easily while clamping it
with two Grips. The one of M5x20 Hex. socket head bolts is accessible from the hole in Front inner rail, the other is
accessible from the hole in Rear inner rail.

Adjust the fastening force of M 10 hex. socket head bolt and M10-17 Hex. lock nut so that the hinges of two Handle
plates can be operated without backlash.

Fig. 12
Handle plates Grips for clamping Sub table
Front outer rail
g %
-

7
4

T-type hex. wrench 4-77
/. / (Makita repairing tool part No.1R168)

The hex. end is accessible to M5x20 Hex. socket
head bolt through the hole of Front inner rail.

M5x20 Hex. %

socket head 7\ *-‘

bolt &KF Y
Table q

complete Sub table Front inner rail
*Make clamping adjustment at the rear side in the same manner.

[10] Adjustment of Riving Knife

Only for American specifications: Adjust the fastening force of M6x16 Hex. bolt in order to remove the Riving
knife smoothly by hand without backlash.
For all specifications: Adjust the Knife holder position to align the direction of Riving knife with Saw blade.



P10/15
> Repair
[11] Adjustment of Ruler Ass'y
| Parallel Adjusting Ruler Ass'y to Table |

Loosen two M6x20 Hex. socket head screws out of three pieces on Ruler ass'y, pretighten the remaining screw located
in the front side. See Fig.13.

Push the part designated byt to stabilize the Ruler ass'y, and then fasten the two screws while aligning the Ruler ass'y
with a groove on Table.

Fig. 13

Two M6x20 Hex. socket head screws: Loosened

V Ruler ass'y
1\

/ M6x20 Hex.

socket head screw: Pretightened

Main table

\

/

Groove on Table

Adjusting Clamp Action of Ruler ass'y |

Secure Sub table so as not to move by two Grips.

As illustrated in Fig.14, loosen the Lever of the Ruler ass'y. And then fasten M5x25 Pan head screw to the limit using
Phillips screwdriver.

Next, loosen the M5x25 Pan head screw until the Ruler ass'y can slide smoothly on two rails without backlash.

Finally, fasten M5x655 Pan head screw so that the opposite end of the Ruler ass'y can not moved while clamping
the main table by the Ruler ass'y.

Fig. 14
The opposite end

of Ruler ass' S °
y / Lever of Ruler ass'y
2 (out of locked position.)
e VS
%
'S

M5x655 Pan head screw

in Ruler
> . .
> — Phillips screwdriver
Y,
M5x25 Pan head screw
in Ruler top holder
S Fig. 15
[12] Parallel Adjusting Saw Blade
Align one of the grooves on Table with Ruler ass'y. Frame Saw blade

Slide the Ruler ass'y along with Saw blade.

Loosen the securing force of Adjust block in front of Frame, and then
move Saw blade to either right or left side to align it with the Ruler Flat

ass'y. screwdriver
Adjust block is accessible from the clearance around levers in Base front
cover by inserting a wrench 10 without upside down of the machine.
Frame can be moved while tapping the area designated by T with Flat
screwdriver as illustrated in Fig.15.




P11/15
> Repair

Set the saw blade angle at 90° to Table using Makita repairing tool 90 degrees set square (Part No. 1R208) and M5x18
Pan head head screw as illustrated in Fig.16. When setting the saw blade angle at 45° to table, use Makita repairing tool
45 degrees set square (Part No. IR207) and another M5x18 Pan head screw as illustrated in Fig.17.

Fig. 16

Fig. 17

\ ~

- —| \

M5x18 Pan head screw

. O
for setting Saw blade at 90
to Table

90 degrees set square (Part No. 1R208)

45 degrees set square (Part No. 1R207)

M5x18 Pan head screw

. o]
for setting Saw blade at 45
to Table

> Circuit diagram

Canada, USA, Brazil110V, Mexico

Power supply cord

Field

black

) s I s B s B s I s B s N s I s [ s |

red

yellow

white

black

white
Iﬁl black




> Circuit diagram
Europe(220V-240V), Turkey, South Africa

P12/15

Choke
coil

cord

purple

‘ Power supply E

Terminal block

Yoz

orange

white | |

| |white

Noise suppressor

N

o
Receptacle |
sleeve

orange

101010101e10101010.010.0]q /o10161010]
/.

um&am
v
J

yellow H

cord

Receptacle

. Power supply

sleeve EI

Soft
start

circuit f

STeTeToloTeTeTeT0I0I0I01o1010Te

P10101019/0]010]0]010]

[~ Choke coil

white

D white L
Soft : [
start i yellow
circuit 1S — >
gray|l | Choke cgvl}llite L
T — Choke
gray suppressor coil
white  orange
UK(110V)
Noise Noise suppressor
suppressor
Terminal block orange

[010,9,0]00;0]0 0]e10 00}

Bl
)10}

,910,010]8,0,0]

5,9,0/010,016]0,9,0]0]0100,00]0,0]01010]0/0]010]00101010101¢

purple




> Circuit diagram

Australia, New Zealand

P13/15

Terminal block
Power supply i)
cord :1
ﬂ SIpRA
5 4 z
Choke coil ~_ §
purple § 5@3 2 1
g . o @ white white
orange z Wh]te Wh]te # z
Noise suppressor orange b
Field
s yellow §
: - purple
Ielelelolo10I0l00 0lel0I01010 001010100 ) 'si000101 ﬁ nlrjx I0I01010]010]10]016/510]0.010]0//10101010101SI0]0]
Soft white '
start yellow white
circuit
b Choke coil
white white orange
red Ty ) Choke coil
gray Noise orange
gray suppressor

220V-240V Specifications Except Europe, Turkey, South Africa, Australia and New Zealand

cord

[@]e1e1010]1010 ¢

A

orange

' Power supply {

[(010101010,010.0,0;010]1010]0]01010101010]010]0]0i0]0 1010101010 101010I0T0]

91010101010/0]010010101010/0[0]S[010101010(0 0]SI010o101

purple

(016101010 010101810]

0101010101010101010,0]010;0)

orange

yellow

white




> Wiring

P14/15

Put lead wires (and Noise suppressor and Choke coil if they are used) into place as illustrated below.

Canada, USA, Brazil(110V), Mexico

Pilot hole for
passing lead
wires to inside

Motor“ housing

Switch box

Grommet Grommet

wires to inside

Relay cord IR
Power
supply
cord
Switch
Europe, Turkey, South Africa
Pass these lead wires
i bet Rel d Ribs.
Noise suppressor Motor‘ housing chween BQY and =ibs Switch box
Terminal block Rib
\
! \
— Grommet | Grommet
Choke ENE= —=I
coil Relay cord Relay cord .!'I | I :D
Pilot hole for POW?
passing lead | S zglr)g y

\
Rib Relay  Noise suppressor

UK(110V)

Motor‘ housing

Relay cord

Pilot hole for
passing lead =
wires to inside

B

Pass these lead wires

between Relay and Ribs. .
Switch box
Rib
Grommet )t Grommet
®) L
Relay cord 'l []] n
& B —P
‘ ower
‘ supply
©), cord
. N
Rib Relay Two Noise suppressors
should be put here.
They are lower than
Connectors

Australia, New Zealand

Noise suppressor MOtOI] housing

/(
Choke coil —||(” V¥

Relay cord

=

Pilot hole for
passing lead =
wires to inside

Noise suppressors

Switch box
should be put here.

Terminal block

Grommet Grommet

Relay cord ‘l

Power

supply
cord

Switch




> Wiring

Put lead wires (and Noise suppressor and Choke coil if they are used) into place as illustrated below.

220V-240V Specifications Except Europe, Turkey, South Africa, Australia and New Zealand

P15/15

Pilot hole for Motor housing
passing lead \

Switch box

wires to inside Grommet

= m—

Relay cord ‘

Relay cord

Grommet

Caution on Power supply cord and Relay cord in Base complete

Do not make a slack between Switch box and Strain relief A.
Fix Relay cord with Strain relief B in the prescribed position.
See illustration below.

N

Base complete

;'3-

Strain relief A

Relay cord between
Switch box and Motor

_ Y
\J/F Strain relief B
\ ] 7 o

Motor housing

W \
Cord guard

R

NN
Motor housing @
Strain relief B

This length should be
240mm plus minus 10mm

Switch box




